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True or false? v or X.

I. €1 +20c+20c=€1-40

2. 70clessthan €2 is €1-30
3. Three 50c coins make €1-75
L. €2less€1-75is 50¢c
5 €2less€lis €l
[z] The shopping trip. Answer the questions. W |
70c 4Oc 85¢c

Tom and Jane had €2 each.

I. Tom bought 2 buns. What was his change? C

Jane bought 2 ice-creams. What was her change? C

3. Ellen bought 2 items. She spent €1-30.
What did she buy? and

k. Adam bought 3 of the same item. He spent €1-20.
What did he buy? 3

5. (a) Fred bought chocolate and a bun. How much did he spend? €
(b) Fred paid with 3 coins. What value was each coin? Q O O

I. Tommy’s parcel cost 65¢ to post. He stuck on 7 stamps.

Each stamp was either 10¢ or 5¢. Write the price on each stamp.
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2. Make up your own puzzle like this. Ask your friend to do it.

* Recognise, exchange and use coins up to the value of €2.
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